EARAROBEEIERT — 2 N— IBISH —F

2016128180 (H) 4H9+=R6H

Ll TR 2 KRB 4E (18X Sk

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S R 2 | AL Tutz 1:36.3 8-5-5 |34.7| 842 | 2 436 | BEE#R (3ER)
1117~ horv 7 b 54.0 s o) | B0 FSTLYEIST 5747
RZFA4d=I K B:vA4 b1 EvJiLy RT7—L4
< . FAisiE :36. -3~ . . MKER (ER)
olsl10| 77 I —2KR -0 it 2 o 1(326)6 3-3-3 [35.1]80.9 | 3 (4:;4) J?L:%ﬁ
L:wonNyghr7x B:Ly RKILEN FEZX %Y K
S 4 2 | TRUE—EB 1:36.7 11-10-9 | 34.7| 80.3 | 9 422 | BAEE (ER)
3Els| A7 54.0 3/4) Ca | BRI
LWN—5—->v 7T BLRARMLIN— K miE ®E
. 4 2 | BERREA 1:36.9 8-9-9 |34.9| 78.1 | 1 484 | /NBE (FH)
41713 TTL>bTRH 20 R o Ewa
RN=YIFA B:IMyTYRLIR J =¥ Ty — L
. . # 2 | BERE 1:37.1 3-3-3 |35.6|74.4| 6 424 | BIEEE (BR)
5 3| AFTYFTAX %53.0 (1 1/4) 12) BESH LY
R:74=TTVI7 B:XFyFK (B) tEa-KRL—-—a>BEI7
SRS f o2 | EIEHE 1:37.2 12-13-15 [34.8| 75.2 | 7 | 472 |FEES (X))
6|8[15| TSy FF1H 54.0 (3/4) g | ) G1L—>>7
RWN—5—-y 7 B:T1T149KhI5— J—HrTp—L
y ft 2 | AEET 1:37.4 556 |35.7| 71.4 | 4 468 | BEE (EH)
d ; I ERT 54.0 4 1/4) g | B #I1x
STIWTFNT 2 BNTY LRI =2 AARPRERF = ASE KRS
3N TETT B 2 | PEEX 1:37.4 6-5-6 |35.6| 72.0 | 8 464 | BERHM (RR)
g8l5l9|E>XTTUY—K 54.0 (NF) (20) | 7EFNF—NT 42T 2 ()
LG4 T*rTv— BEVIVY TR J=HTy—LI
= . # 2 | AUXTS 1:37.6 12-12-11 [35.4 | 70.7 | 10 | 426 |/)SEfmsk ()
9|8[16| 7/¥TF T~ 54.0 M e | AR
LG4 RNT—=hEY BN=Y=ZT7FXry b BhEFREMASHIVATHRS
Sy S i 2 | ZEBEA 1:37.6 15-13-11 [35.4| 70.7 | 11 408 | FIEHIEE (i)
10 6|17 A 4A51.0 (NF) o | @ 550y K557 5747
g/ v 7T BIAXEYY-— EvJlLy RIT7—L
o2 | A=ER 1:37.8 12-10-11 | 35.6| 68.7 | 5 | 422 |FREE(T ()
11pM s | VT 7+ —2R 54.0 (1 1/4) o |EFE-
L:F1=TTVI>T7 BV A TINARZAN EZHTT— L
JJ3 2 | BEHE :37.8 222 |36.4| 649 | 13 | 442 |BXKERE (RH)
12 7 = A51.0 (NF) (- | FllliE
RN—5—-2y7 B:FxyXI Tl EX 2V K
i i s 2 | JIERE 1:38.0 1-1-1 36.7| 62.1 | 12 | 480 |#EZ (EiH)
131|174 —L>TL2 54.0 (1'1/) Ca | EEAX
RgATAT v — By b)TO-X WE E
LS A 4 2 | EHEBZ 1:38.0 16-16-16 |35.4| 66.8 | 14 | 394 |BFHE (i)
141714l 71> Z T4 NIL 54.0 (2 E) (c2) | WR Y1
RRFAT—WE BTG rhAa AXREG2—T7—L
N . 2 | MIEEEX 1:38. 6-8-8 |36.2| 63.5 | 16 | 446 |=HIESE (RR)
15l s /- 7NT # 753.0 5t Ciay | ) /—xEnx
R:v2RYIYZXIZX B:TL—-XVUaX HRXEHE /-
$ B 2 | AEH 1:38.9 8-13-11 | 36.7 | 55.2 | 15 484 | REE— (EH)
16112 J—IL~Y KA A52.0 (5) (+10) N EET
RANXZTNYG B HATH =T AFHIS
@ 71 L
) 47.5-35.0
NA>ZA L | 12.6-11.7-12.3-12.2-12.5-12.2-11.4-11 .4
® I —F—@EBIERL
1T=7r=
2= = 1,7(3,10)12(4,9) (2,11,13)5(8,15,16)6,14
Gol=5r= 1,7(3,10) (11,9,12)4,13(5,8)16(2,6,15) 14
40—+ — 1,7(3,10)11(9,12)4(5,13) (2,6,8,16)15,14
[ N3
BB 1 400M 714K 10-11 470 e E 5-6 870M JEHE 5-10-11 8,770/
8 B 1 180F4 5-11 1,350H B = 10-11 1,370 B 11-10-5 30,350
10 180 5-10 1,450 | | /& B 11-10 2,370
5 5609

ABICOVWTRDTEEERROODE. TR LIV,




